THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES — LEVEL 4
ASSIGNMENT TEST 2012

MACRO ECONOMICS — MCU2207

DURATION TWO (02) HOURS

DATE:

24th November 2012 TIME: 10.00 am - 12.00 noon

Answer any THREE questions.

All questions carry equal marks.
(Use of non programmable calculators are allowed)

Define the following

i) Gross Domestic Production (G.D.P)
ii) Gross National Production (G.N.P)
(5 Marks)
i) What are the three approaches the economists use to compute National
income? Explain.
ii) What are the limitations in measuring National income? Explain in relation to
economies of developing countries.
(20 Maris)
i) What are the major macro economic goals,a country expects to achieve?
Explain. '
ii) Taking Sri Lanka as an example, explain how the respective governments

employ various Policy Instruments in achieving these macro economic goals.

(25 Marks)
Using illustrations explain the following
i) Consumption Function
ii) Savings Function
iii) Two sector circular flow of income
(12 Marks)



b) Consider the following given details of a three sector economy; (figure‘s in Billion rupees)
C =48 + bY4 (Consumption) I = 42 (Investments) G = 52 (Government Expenditure) -
Marginal Propensity to save (M.P.S) = 0.2.

i) Calculate the equilibrium level of National Income.

i) Suppose the government introduces an autonomous tax of 8 billion
(T = 8), Calculate the equilibrium level of National Income.

iii) In addition to the autonomous taxes, if the government introduces an

income tax of 10% and transfer payment of 3 billion (TR = 3), Calculate
the equilibrium level of National Income.
iv) Find the three sector expenditure multiplier.

Suppose the government opens up the economy and the following changes take place.

X = 36 billion (Exports)

™M = 28 + 0.2Y (Imports)
V) Calculate the equilibrium Level of National income.
vi) Find the four sector expenditure multiplier.

vii) Why is that the three sector expenditure multiplier is larger than the four
sector expenditure multiplier? Explain

(30 Marks)
c) How does the depreciation of the domestic currency affect the level of imports and
exports of that country? Explain.
( 8 Marks)
(3) a) Using illustration explain.
i) Goods market equilibrium
ii) Money Market equilibrium
(6 Marks)
b) How is the IS/LM equilibrium position affected as a result of the changes in monetary
and fiscal policy variables? Explain using illustrations.
(20 Marks)
c) Explain whether the following statements are ‘true’ or ‘false’.
i) In Liquidity Trap fiscal policies are highly.effective.
ii) When the demand for money is completely insensitive to rate of interest
monetary policies are highly effective.
(24 Marks)
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UearaumLeteumeny  euenyeallevdsautiiLiheIs.
(i) Gurss o epr GH 2 pushsl (GDP)
(i) Ouiss CxAw o _muss (GNP)

(05 yetrerilapeir)
1) Capdlw eumLTaISHmSHsS SauliiL QuTmeiweded LweTLIHSSLILIGILD
3 SIEIS (WemEeT eeneu? ellensE . A
(i) Godw eaumLTMSMSES SEIIHEUBED © 66T CUDIWIEHBHEST 6T6en?
SUalHHg SEnLbBSH aumHD BrhHsefer QUTHeMTHTIRISEHL T CHTLILLGSHS

e G . .
(20 yeiterilameiT)
1) BTH SiewLw eHiumis@d Cuifler QUTHENTHTY ©)60d&E®6 6Teneu?
allendb@GHs. ’
(i1) G\ @Qu‘lm QUTHETSTT B)eVHGHBHEEN DDLU BT 19T SITEFTEIBHISET

ereueut Goumiui' L. Oameienssd SHallsensT LIWLETUHSHIS OB 6TaTLINS
BeVmIMmBMUl 2 _HTTEWID HTLLG 6T(LRSIH.

(25 yenerllamelr)
UEDTUL MiG6MelT 2 SHallujL &l LleTeubUeaTauBens ailend@as.
O s GamiBur®
(i)  Gedy ComAnur®d
(i) @m HOBHEHHITET UHLOTHT HBEBTL L LD
(12 yeirerflaseir)

PRID HlwBEeneNsd OdmemiL GUTHenTHTTHH 6 LledTeumd g)&smjébeﬁﬁﬁ STUUbHSletment.
(Nevedlwiest emumuileD) '

C=48+bYy (maiay)  1=42 (ws656)
G =52 (op5 Ggevaih)  eevemev CaulliygmiLib (MPS)= 0.2
(1) Gapdlw aumHoTet WL Fpenevulenets HeililibHs.

]
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(1) SyFmhsd slWFmawTer auflwme 8 NeLedWIeT apLTEN6 (i‘_= 8) euprIHeTed
Cpdlw eughomenr WL FioBlensd wimg?

(i) sCusemswrenr eufleg Guweodswrs Sammsd 10% eumomer euflenuiulb
wrmmed CaT@liueaieuTs 3 NedeVlwies (ﬁ_{=3) ahUTMIWD USHSTH
S wsasliLhGaioTular CHdw eumTar WL Foplened wirg?

(iv) 3 gopsensstar QFoall Bl CUHEHSMmWs ST sD.

QuUTmeNTSHTID SHmba el L Bleneouled Lleameubid - MBBEISeT @)L 1b. CuBidaser.

X =36 evedwen (gipios)
M=28+024Y (§msswd)

(V)  Gadw eumora UL SFURmMmWS SaililBs.
(vi) 4 siopsepsstan GFaal Gl CUmSSmws SHeiiLlHs.
(vi)) 4 siopsEprssTal GUBSSmweall g1 3 SHMBEEHSSTE CFevail HI1
QUGS FHBLOTS 2 _6Tengl? alend@GHas.
(30 yeterilaeir)

2 6MBTLH BreavubSed guUBL CUBILSS GmBUY BILIGE gBOILS, BBsELS

UL SO eTelouTBTer LTBBSHMSH gRUBSSHID? allensEGs.

(08 eterilapet)
auenIUL HiseNa 2 saluj 6l allendd .
() QUTHLFHeng FLOBleneL
(i1) UGTFFHend FLOH6n6V
— : (06 ysiteNeein)

BTewIL, @enpd Oameiend LTPIEB6Ted gBUbLL WIBBHSer alenemeurs IS, LM
SHme0 eTeleuTy LTSILMLSGDE aaILmS auenyLLFiseler o el e
elerTeh(@ .

(20 yetreriiapeir)

Uereumd . SnBpibase “Flun” oieveog “Uenpwir” eeid GUILUILGH alendgs.
(1) Beps Csmeenswnearg, Syl QuIulled o wi SHTessHmsd gBUBSHS
6UGLEVG.
(i) ey IBHIBGD, uenis Gsealb@lon Cuw aaalsHd OHTLILD  E)e060TLO6
B mHeEGED CuTE Hrauws CBTImS Falgll STHBLPMLIUIG!. '
(24 yeerimeiT)
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